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M,, [g/mol] W M
PP-A 220,000 2.9
225,000 4.5
PP-C 270,000 7.3
PP-D 167,000 4.6
PP-E 361,000 4.6
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Air Gap=10mm  T=190°C L/D=10/2
Vv, Vo | @ V,, Vo | @ Vv, Vo | @
[m/min] | [m/min] | [-] [m/min] | [m/min] | [-] [m/min] | [m/min] | [-]
PP-A]l 1.2 ]10.062]| 20 JPP-C|] 08 |0.039|20 PP-E] 0.9 ]0.045] 20
1.6 | 0.062 | 25 1.0 |0.039 | 25 1.1 | 0.045] 25
22 10.062 | 35 1.4 ]0.039 ]| 35 1.6 |0.045] 35
2.8 |0.062 | 45 1.8 | 0.039 | 45 2.0 10.045 ]| 45
3.4 0.062 | 55 2.1 0.039 | 55 2.5 0.045 | 55
4.0 | 0.062 | 65 25 10.039 | 65 2.9 10.045 ] 65
1.0 ]10.053 ] 20 3.3 [0.039] 85
1.3 10053 |25 |PP-D| 1.0 | 0.049 | 20
1.9 10.053] 35 1.2 10.049 | 25
24 |10.053 ] 45 1.7 ]10.049 | 35
2.9 |]0.053 ]| 55 2.2 |10.049 | 45
3.4 [0.053] 65 2.7 10.049 | 55
3.2 ]10.049 ] 65
3.7 10.0491] 75
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180°C

M, [g/mol] | M,,/ M_
1| PP-A | 220,000 2.9
225,000 4.5
—| PP-C | 270,000 7.3
PP-D 167,000 4.6
1| PP-E 361,000 4.6
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(Maxwell Model)
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